1-1 /2-‘-’— —
1-1/2"
R=3/4-"_—|

R=3/4"
OFFSET RADIUS POINT 1/2*

2"x 6" HANDRAIL

2"x 4" RAIL v

™

2"x 4" TOP GUARD
(TYP)

6" VERTICAL
BLOCK

2"x 4" INTERMEDIATE POST

SOLID HANDRAIL

2"x 4" DETAIL
TOP GUARD
(TYP)\
SOLID HANDRAIL ==
(TvP)
f SPACE AS NEEDED TO
E 1 f MOUNT HANDRAIL
o, a LESS THAN 4" MAX
E Wz <C
= = E
Eo w =
L =
s g zQ© ol
] . E'L,. r?
N v T 5
N 3% ™ f
NZ |:I_: g
| & 2
1" i
' l LESS THAN
4" OPENING
TREAD (SEE PAGE 3) (TYP)
_ 36™
4”x 12" STRINGER 1 17 (TYP)
N 9
1/2" X 10" o
FON GALV. BOLT A \
5
S 3
Ly \\
Ll
&
. 4 &
& POST 4
4"x 6" BLOCK ™
\ ] 5
2"x 6" DIAGONAL BRACE-/ 6
7
8
POST FOOTINGS
(SEE PAGE 3)
9

LANDING SECTION

o' 4"
TOP GUARD
(TvP)
SOLID HANDRAIL T—
E (TvP)
gl {
o % o a
Wu =z <<
=4 = [
=2 L iTT
MO a s F SPACE AS
o O e
zQ i 98 g NEEDED TO
&% ¥ T4 MOUNT HANDRAIL
z o
XNZ m *
NZE W
| & o
[a1]
) IR
l i LESS THAN
N n 4" OPENING
N \— TREAD (SEE PAGE 3) (TYP)
26"

42" HIGH GUARDRAIL
REQUIRED WHEN WALKING
SURFACE IS 30" OR
MORE ABOVE GRADE

ARV R NN,
R P70 NP2
LR

STAIRWAY SECTION

NOTES:

STAIRWAY AND LANDING TREAD SHALL BE STEEL GRATING 1" X
3/16” BEARING BARS AND 1/4" CROSS BARS, RYERSON 19W4 OR
EQUAL. STAIRWAY TREAD AND LEADING EDGE OF LANDING WILL BE
SUPPLIED WITH CARRIER PLATES. MINIMUM TREAD WIDTH SHALL BE
11", GRATING SHALL BE HOT DIP GALVANIZED AFTER FABRICATION
IN ACCORDANCE WITH ASTM—A-153.

. POST BASES SHALL BE GALVANIZED, SIMPSON EPB 44A OR EQUAL.
. ALL CONNECTIONS SHALL BE MADE WITH GALVANIZED FASTENINGS

WASHERS
NO

IN ACCORDANCE WITH THE UNIFORM BUILDING CODE.
SHALL BE USED ON ALL BOLTS NOT BEARING ON METAL.
NAILING ALLOWED.

. DIAGONAL BRACING TO 4”x 6 POST, CONNECTION REQUIREMENTS.

TREADS TO STRINGERS 1/2" x 5" LAG SCREWS 2) EA. END

4 X 6 POST TO STRINGER 3/8" x 3" LAG SCREWS (2) EA. SIDE

4 X 6 POST TO BASE 1/2" x 10" BOLTS 2) EA.
1/2" x 5" BOLTS 2) EA.

. ALL HARDWARE SHALL BE GALVANIZED IN ACCORDANCE WITH

ASTM—A-153.

. ALL WOOD SHALL BE TREATED WITH ACA OR CCA IN ACCORDANCE

WITH LP—22. RETENTION OF THE DRY SALT SHALL BE A MINIMUM
OF 0.5 LBS. PER CUBIC FOOT. LUMBER SHALL BE HEM—FIR, NO.
2 AND BETTER.

. FOOTINGS SHALL BE ON UNDISTURBED EARTH AND A MINIMUM OF

32" BELOW THE SURFACE, EXCEPT BEDROCK FOOTINGS.

. WHERE "H” IS 18" TO 6°, 1 PANEL OF "X" BRACING SHALL BE

USED. WHERE "H” EXCEEDS 6’ TWO PANELS OF "X" BRACING
SHALL BE USED.

. WOOD HANDRAILS SHALL BE SMOOTH, SPLINTER FREE AND MADE

OF ROT RESISTANT WOOD.

SCALE: DATE:
NTS +/24/98 CITY AND BOROUGH OF JUNEAU, ALASKA
DRAWN BY: CHECKED BY: STANDARD STAIRWAY
STAFF JB/STAFF

APPROVED BY:

REVISED:

8/9/2010

STANDARD 122-1




1S0d _ 4

OL 3¥NJ3IS 7 7
Pwvdg ¥ X -NW 4
r

1S0d ==

0L NMN13Y _1
=NT_

L—¢Cl QUVANVLS 33S
1HOIIH TIvd ANV STIVIAONVH
‘ONIOVAS TV NO STIVI3A ¥04

J1140dd AVMHIVLS TVOIdAL

SONIONV XVN 91
NI3ImL3g 3Sid XVN 21 — NN 9¢ —
SONIONYT N3IIml3g Xvn 91 S3AVA

[Ty 3Lvid 7331S

(dAL) 1¥0ddns W2/ 1X.8X.97\ [[=]
JLVIGIWYALNI -
\ 30078 .9 X E-d
(1 39vd 339) si08

SX2/ 1 (@) \
(dAL) ¥3ONMIS_—~ /m

\Y

Le_

/EE ayvno dol oL

avadl WOodd NIN 2+

ONIANYT ONILSIX3 OINI S3lL
IVYANVH 3¥3HM d3SN 38 OSTV TIVHS
(dAL) 1SOd TWNIWYAL .9 X+

IVINOZIMOH Ol Qv3dl 3INO
40 H1dIM SAN3IX3 IVIANVH

XVN

00 9

(dAL) TIvY JVICANMAINI ¥ X2

(dAL) 0019 v X2
IVOILN3A 9

(dAL) TIVHANVH

L4 i
s
£-zZ| QUVANVIS 338 s g
¥3SIY ANV avadl 4 +
rt L.
(dAL) 4 4]
Y3IONINLS 1 g = %
b Xy ip%
—_—— b
= g 1-zz1
— QuVANVLS 33S
4 (dAL) 1SOd ¥ X.T
(dAL) Mo0E v %2
IVOILYAA L9

M3IA dOL
NdN13d dN3

SAN3 d3LIN
1SOd OL XOvd
NiN13Y TIVYANVH

I

3

SAN3 ¥3LIN 1SOd
OL XOva TVINOZIYOH
NINL3Y X2

1SOd aN3 OL
1708 ov1 X v

Ve o

¥—2¢l QUVANVLS 39vd 33S
NOILOINNOD 3134ONOD
OL ¥3SIy 40 WolLog

(dAL) TIVHANVH
dOL Ol avaML
Wod4 .8 OL ,¥&

av3dl INO 40 H1dm
SAN3LX3 TIVYANVH

(dAL) TIVYANVH dOL OL
ava¥L WNo¥d 8¢ OL .¥E

(dAL) ayvns doL oL
av3dl WO¥4 NIN .T¥

371404d
NJN13d dN3

1SOd aN3 OL
1708 oV ¥X. v

_—

1SOd aN3 9% ¥

SV H
3A1VIGIWYILNI Z~ HOIVN OL
SLND M3LN
1S0d 3QISNI
(NMOHS 1ON TIVYANYH)
Qyvno dol

YIOVdS TIVIAONVH

CITY AND BOROUGH OF JUNEAU, ALASKA

STANDARD STAIRWAY

STANDARD 122-2

REVISED:

8/9/2010

7/24/98

CHECKED BY

DATE

JB/STAFF

NTS

SCALE

TAD

DRAWN BY

APPROVED BY




" POST

| B

97

I = <ff

SONO TUBE
OR EQUAL \
.4_ .
EXISTING

1 —1/2" DIA DRILL HOLE

wa ||

BED%%
_]L

MIN 6"
OR 4" ABOVE
FINISH GRADE

12" DIA CONCRETE FOOTING

\ﬁﬁ REBAR — EPOXY
ROUT MIN 12" IN
SOUND BEDROCK

OPTIONAL BEDROCK FOOTING

1" X 3/16” BEARING BAR\

||

1" OPENING

DIRECTION OF TRAVEL

||
1-3/16" 0.C

l— 4" oc— /
1/4” CROSS BAR
STAIR TREAD

4"x 6" POST

2" ‘
- IN 4" ABOVE
FINISH GRADE

: f

MWV
/_
N |
| I |
” o 4. N
8 1d <. 1
l ) -4
. . i
. a4’ .
< to. N
POST BASE -
SIMPSON EPB44A | - L
.- -
4 - a pa)

|

MIN " 32"
F BEDROCK IS LESS
AN 32" SEE OPTIONAL
BEDROCK, FOOTING

|

SONO TURE
OR EQUAL

14" DIA CONCRETE
POST FOOTING

STAIRWAY POST FOOTING

—11.18"—

McNICHOLS 1-1/2 #10S OR EQUAL
EXPANDED
METAL RISER

TOP OF RISER
(SEE PAGE 4)
(TYP)

" 10 7"

'S
o

11" MINIMUM
' STAIR TREAD7
4 L(BOTI'OM OF R)ISER
SEE PAGE 4
O («®>) (TYP)
TREAD AND RISER PROFILE
CHECKERED PLATE
NOSING:
SCALE: DATE CITY AND BOROUGH OF JUNEAU, ALASKA
NTS 7/24/98
DRAWN BY: CHECKED BY: STANDARD STAIRWAY
TAD IB/STAFF
APPROVED BY: REVISED:
8/9/2010 STANDARD 122_3




1-3/4
1-3/4" 35-1/2~

/ \& | Sn | 8" | Sn | Sn i 4(/
THREADED AND [ AA A A A A A A A A A AA A A A AAAAAA A 'y
TAPPED 5/16” =
HOLES. PROVIDE— o I
CLEARANCE FOR i
FASTENERS 3
N
>
b

ADJUSTABLE HEIGHT RISER

1" X 1/8" X 35-1/2" PLATE

EXPANDED METAL
SPOT WELDED TO
1" X 1/4” X 35-1/2"

Q EXPANDED METAL RISER PLATE
N/ EXPANDED METAL RISER
\ .y am . 17X 1/8" X 35-1/2" PLATE
N\ 1” X 1" X1/8 __—WASHER
N\ ANGLE 5/16” X 1" HEAVY HEX NUT
§ HEAD MACHINE SCREW -
| . NUT
§ 5/16” X 1-1/2" - WASHER
\ HEAVY HEX HEAD o x 7]
\ MACHINE SCREW 1/8" ANGLE - -
% -99 qq<7<.’:jqu<'
\ ” ” ” qur : '_'q<' ” ”
d § 1" X 1/4” X 35-1/2 Yalz t2ps 5/16” X 3
\ PLATE TAPPED FOR 9] © |5 _ANCHOR BOLT
A 5/16” SCREWS "qi DI/ AT MAX
% 712 2 3f 127 OC
N P
WASHERS EPOXY P
FOR TREADS WITH 1/2” WIDE GROUT ™N[; : 3
BEARING BAR OPENINGS, USE 1"
\ MACHINE SCREW BOTTOM OF RISER TO
_ 5/16” X 1 CONCRETE CONNECTION

MACHINE SCREW

TYPICAL BOTTOM OF RISER

EXPANDED
METAL RISER

7227777777227 717272

TYPICAL TOP OF RISER

1]
:\1 /2" X 8" BOLTS

I~ I

SEE BOTTOM RISER TO
CONCRETE CONNECTION

F?Y (2 EACH)

— 1 —— #4 BARS AS SHOWN
MINIMUM 2” COVER

_Mﬁz"ﬁ‘ﬂ

L

CONCRETE FTG.
/611 X 3211 48'\

of

BOTTOM OF STAIRWAY SECTION

BOTTOM OF
STAIRWAY
PROFILE

SCALE: DATE CITY AND BOROUGH OF JUNEAU, ALASKA
NTS 7/24/98

DRAWN BY: CHECKED BY: STANDARD STAIRWAY
TAD | JB/STAFF

APPROVED BY: REVISED:

8/9/2010

STANDARD 122-4




